APPENDIX 1:

DAPPLEWOOD, GASTON STREET, EAST BERGHOLT, CO7 6SD (FORMERLEY KNOWN AS RUSSETS)
TPO BT18/A1 20/8/1975

T1—x1 Large Oak in the garden — to reduce the longer side limbs by approximately 2-3m to reduce
the weight and size

To balance prune to make a smaller more compact crown, to remove the major dead and large
branches and inspect for safety

T2 —x1 Dead Sycamore affected by sooty bark disease — to fell to ground level

T3 —x1 Sycamore next to the above as it has quite extensive dieback in the crown and will likely
succumb to sooty bark disease — to fell to ground level

T4 — x1 Oak tree (roadside) — to reduce by approximately 2m overall crown reduction to maintain
the tree

T5 — x1 Oak tree (driveway side) — to remove the major dead wood and carry out a crown reduction
by approximately 2-3m to maintain the tree




